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4= Electrostatics
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‘ , Weightage of the Chapter )

« 2019to 2024 - Total 14 Questions /

* Expected Questions -2 to 3 /

* Basic of Whole electro-magnetism /



c , CHARGE (4 )or 0) @

It is a fundamental property of a matter due to which it experiences and produces
electric and magnetic effects.
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Types of Charges
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¢ , Properties of Charge )

1. Like charges repel each other and unlike charges attract each other.
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2. Charge is additive. (Sealay) = with sign

€y : 3+ Ye=Jc )+ Sc +(-39 = 2c

3. Charge of anrsolated syste\Jls conserved.
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Charge is invariant but mass is variant.
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5. Ek Tarfaa Pyaar - Mass can exist without charge, but charge cannot exist without mass.
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i ntized- The charge on any body is integral multiple of
an electronic charge. ( €.)
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Soch Bhai Soch )

Why protons can’t be transferred?
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~ QUESTION 3 @

Assertion (A): Charge is(nvariantywith speed. el "1=2c
Reason (R): Charge ﬁ)es not depend on speeg] orﬂ?ame of reference.J ‘ e P 9 =2c
- "

ssertion (A) is True, Reason (R) is True; Reason (R) is a correct explanation
for Assertion (A).

Assertion (A) is True, Reason (R) is True; Reason (R) is not a correct
explanation for Assertion (A).

Assertion (A) is False, Reason (R) is True.

@ Assertion (A) is True, Reason (R) is False.



) QUESTION ) q/,,’;-ZC L

Find charge on body in each case:

o : = PO =he
1) 100 electronsremoved —> 9= +lece = oo x |- 6Xxlo " ' C ——@No C

- =9 =18 o=
2) Ziglectronsadded — 4 = —Ro e = 20 x|l+6 X |0 -—-@lo

3) Selectronsremoved —=> | = t°%
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4) 25electronsremoved —> | = +2R°5€

5) 2000 electrons added —> 1=-— R000L
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Darshak Bane Fielder, Fielder Bane Darshak )

How many electrons has to be removed from a body to charge it by 1 coulomb?
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—

A neutral body is charged by 2 nC. Find number of electrons transferred from it.

@ 6.25 x 1012 X X (Q—S‘ X 6~2S x|o'®
@ 12.5 %10 |25 x|o!

@ 6.25 x 10°
@(5x 10°



Doodh ka Doodh, Lassi ki Lassi )
Kaun @Kaun Jhootha?

@ Dholu Uncle says he has charge 3.2 x 107!% C
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Doodh ka Doodh, Lassi ki l.ossi )
Kau@cg(aun Jhootha?

@ rAlia Bhootn&ays she has charge 6.4 x 1071¢ C
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. Doodh ka Doodh, Lassi ki Lassi ) @

Kaun Sachcha, Kaun@k

% —q<6x15 <

@ Jhumru says he has charge 1.6 x 107%° C {
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Soch Bhai Soch )

A neutral body is charged@ What happens to its mass?

Mreases ? e= add
=
@ Decreases




Soch Bhai Soch )

A neutral body is charged positively. What happens to its mass?

o
@ Increases %’ /’
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QUESTION )

— ——————————

Charge on alpha particle is H z‘
: |
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QUESTION )

Charge on deutron is @ D o nt? :t"::: |
@/1.6 x 10719 C

32 x10719C
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3.2 x10°C
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Assertion (A): Total number of positive ions in nature is constant. K Teld q «—

CovA-
Reason (R): In an isolated system charge remains conserved.
Nt

Assertion (A) is True, Reason (R) is True; Reason (R) is a correct
explanation for Assertion (A)

Assertion (A) is True, Reason (R) is True; Reason (R) is not a correct
explanation for Assertion (A)

Assertion (A) is True, Reason (R) is False.

@A/ssertion (A) is False, Reason (R) is True.
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~ QUESTION ) I @

s o

Assertion (A): Mass of ion is slightly different from its element form.
Reason (R): Ion is formed, when some electrons are removed or added so mass
changes.

@/Aﬁertion (A) is True, Reason (R) is True; Reason (R) is a correct
explanation for Assertion (A)

@ Assertion (A) is True, Reason (R) is True; Reason (R) is not a correct
explanation for Assertion (A)

Assertion (A) is False, Reason (R) is True.

@ Assertion (A) is True, Reason (R) is False.
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Charge ka Juice )

Find the charge on 91 kg of electrons. 1
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‘ , TYPE OF MATERIALS ON THE BASIS OF CHARGE FLOW ) @
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‘ , V(3 lelplYel e 1) .\:{c]|[CHEE 1. By Rubbing [ Friction

When two bodies are rubbed together, electrons are transferred from one body
to another.

Only for the insulators

Examples: Glass rod (positive) rubbed with Silk (Negatlve) Rul,
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2. By Conduction

Only for conductors

By touching two conducting bodies or connected through a conducting wire.

One of the bodies must be charged.
q< Neutvof
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Ek Tera, Ek Mera - If bodies are identical, then charges are equally distributed

after conduction. / 3
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QUESTION )

Find the charges on the identical bodies after conduction.

A
3C

B
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QUESTION )

Find the charges on the identical bodies after touching them simultaneously
L




3. By Induction

« Charged body is used to create other charged bodies without touching them.
t\|0 \A‘{'_VQ,O ?od




‘ , Charging by Induction Explained in Steps
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QUESTION )

—

A charged rod is brought near an isolated neutral conducting sphere, then sphere

Nowkvel *
@ Gets positively charged ) /(:) -

@ Gets negatively charged

Wns neutral
@ Can’t predict




QUESTION )

—

In the given diagram, if rod is placed very near to spheres, then

@ Both become negative g @
Pt % .
" -

@ Both become positive

+ +
+
Wgative, B is positive

@ A is positive, B is negative



Soch Bhai Soch )

Can a charged body attract a ngutral body?

el




_ ) GOLD LEAF ELECTROSCOPE Lold —>mnellea ble

Device used to roughly estimate the charge on the body /. oo T
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~ ) COULOMB'S LAW
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0 )
Properties of Coulomb (Electrostatic) Force WY

-+ -+
1. Attraction and repulsion depends on sign of charges. e }’ 2_"':
Oury ];6 7919, 70 => Repo >°

- s -J =99,
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s g ol
2. Valid for point charges E < 9 2
1, i 'y @ 2,
Qo 460'\ Skherey

3. Follow Newton’s 3" Law. Rquaf X opposite




4. Both Newton’s law of gravitation and Coulomb’s law follow inverse square law.

f
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5.  Electrostatic forces are conservative in nature.
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6. Electrostatic forces are much stronge n the gravntatlonal forces.
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Two point charges are separated by a distance d repel each other with a force 8 N. If
distance between them is changed toen force will become: g —‘

dc,
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oo ) @

Two point charges exert a force F on each other. If distance between them is made

4 times and both charges are doubled, then new force is
W i P
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~ QUESTION ) @

Two charges 10 C and 5 C are placed 20 cm apart. The ratio of Coulomb’s force
experienced by them is:

JoC Sc e
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QUESTION ) @

Two charges of 1 nC are placed at a distance of 3 cm from each other in vacuum. Find

electrostatic force between them.
= Scm

InC - =2
@ 105 dyne f@f—;ﬁX@ . I xlo o)
O( * #
A= R
@ 1075 dyne
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QUESTION ) @

Two identical conducting spheres have charges 6 C and 2 C respectively placed at
certain distance have force F between them. If they are touched with each other and
then placed at same distance, then force becomes

Na 2
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QUESTION )

— ———————————

2w =1
. .

@ 16 F/9 40 =@
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70
&
Two point charges A and B, having charges +Q and -Q respectively, are placed at

certain distance apart and force acting between them is F. lfharge of A is
transferred ten force between the charges becomes:

[ (NEET 2019)
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_QUESTION ) s Ty

repulsive force between them is maximum. The charges of the two parts are:

@ 9 uC, 1 uC 1,

%
%pc, 5C o

@ 7 nC, 3 uC

@ 8 uC, 2 uC 3 X2 = |¢

Gy

A EO uC icharge is divided into two parts and placed at 1 cm distance so that the

[IEE Mains 13 April, 2023]

F’T— k/‘) ‘rna;:’

Fir B
Maox™
s

ro[‘-:_lo 7
q:\:o
F\'w"n':o

=S O F’




‘, PERMITTIVITY ) € -> et Ry

@ ' G o= Pu\'mivai*a { VVé ccu v (auh)
Ytre 3
4 y € => 8-85 x!o"&( v 7,__., NEET P%0
- Nm* e
N ™
C‘L




K:., (vqccum)
koo | (eah)




PN
QUESTION ) @

—

A force of 4N is acting between two charges in air. If the space between them is
completely filled with glass (&, = 8), then the new force will be
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QUESTION ) @

—

Two charges placed in air repel each other by a force of 10™* N. When oil is introduced
between the charges, the force on the charge becomes 2.5 x 10™> N. The dielectric

constant of oil is: ] é No e
| F o Mo ok
@ 2 A
-5
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QUESTION ) @

— ——————————

Assertion (A): Force between two charges decreases when air separfw,the charges
is replaced by water.

Reason (R): Medium intervening the charges has no effect on force.
B

@ Assertion (A) is True, Reason (R) is True; Reason (R) is a correct
explanation for Assertion (A)

@ Assertion (A) is True, Reason (R) is True; Reason (R) is not a correct
explanation for Assertion (A)

@(ssertion (A) is True, Reason (R) is False.

@ Assertion (A) is False, Reason (R) is True.
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The electrostatic force between two charge particles is independent of the presence
of third charge.
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NS
Two charges Q and 4Q are shown in figure. Find position of 3rd charge g so that net

force on it is zero.
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Concept for Similar Charges
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QUESTION ) @

Two particles A and B having charges 20 uC and -5 uC respectively are held fixed with a
separation of 5 cm. At what position a third charged particle should be placed so that it
does not experience a net electric force ? (JEE Main 2021)

20 pC e
@/At@‘rom -5 puC on the right side y 5 cm B

: 2 = -
@ At 5 cm from 20 uC on the l_ﬂsnde of system A 3 'QK@

‘

x TR =
@ At 1.25 cm from a -5 puC between two charges
\

PYe No M22od
@ At midpoint between two charges

)<




‘ , Vector Use Hone vala hai (Bhai Krvaega) )

/}7K R= /AT 1B +2AB cosd
© . Y A-R (rognituds ogual)
/e
R:‘_ RA’CS(S\
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QUESTION )

—




P Side t('\o'.dp
Charge at the center of a regular polygon (Charo Taraf Se Hamla)
L )







Coulomb’s Law in Vector Form (A - A ]
: A
T 7 t unit vector

F — kﬁv(lj )/7\. L___, +ells wy direction
sy o o
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QUESTION )

—

70
(Y
An electron is moving round the nucleus of a hydrogen atom in a circular orbit o
radius r. The coulomb force F between the two is [CBSE AIPMT 2003]
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QUESTION )
Ifq,>q, buen find relation between 6, and 6,

®9>e bind) P
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@ Humein Kya Pta!
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QUESTION ) @

Two metal spheres of same mass are suspended from a common point by a light
insulating string. The length of each string is same. the sphere are given electric
charges +g on one end and +4q on the other. Which of the following diagrams best
shows the resulting positions of sphere?




~ B Sher ka Khauff (ELECTRIC FIELD)
Thound a charge whefe its effect can be felt.




‘ , ELECTRIC FIELD STRENGTH _(_E)l Intensity of Electric Field )

Force experienced per unit positive test charge.
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Sl Umt Graph and Fleld lines for a point charge N/
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QUESTIONS )

Find electric field due to a point charge in each case:

N s

X | X

@ 8 C at adistanceof 4 m — gl

@ 10 uC at a distance of 3 m - C'-;qoﬁ)( loxlo'C
3'}_

@ 9nCatadistanceof 9cm  _— ﬁxlo‘\ xﬂx{o"c‘




c , Electric Field due to multiple charges )
¢ P
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QUESTION )

Charges 2Q and -Q are placed as shown in the figure. The point at which electric field
is zero is somewhere

@ Between - and 2Q) 2 A A SR e o e B ®
: LA P R
@/On the left of -Q r
i B
@ On the ljgt of 2Q
X

@ On the perpendicular bisector of the line joining the charges

><




QUESTION )

ABC is an equilateral triangle. Charges +q are placed at each corner. The electric field
intensity at the centroid of triangle will be
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~ ) CONTINUOUS CHARGE DISTRIBUTIONS Y
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1. Electric Field due to aring at Centre >




2. Electric Field due to a circular arc
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Electric field at centre O of semicircle of radius a having linear charge density A given

as. [2000]
E = 2 kA T /;()< ‘ ,L_i_
A i , ~N
@ 2mega’ e s
=
A = B
@ 4amt’gga’ O A
2ATG <«
A? '
@ 2MEHQA

@ -2
2ME QA



QUESTION )

A thin semi-circular ring of radius r has a positive charge g distributed uniformly over
it. The net field E at the centre O is

E = 2K = A=

L
4m? eorz_]_ i 2
o Vo Ct -
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3. Electric Field due to ring at an axis >
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4. Electric Field due to a charged rod >
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QUESTION

J

Gy

Two parallel infinite line charges with linear charge densities +A C/m and +A C/m are

placed at a distance of 2R in free space. What is the electric field mid-way between

the two line charges? a2 i‘°
Wero + £ -+
2\ B T &

@ nSORN/C /\44—"’;"4——9 T/\
(o\ R +

@ A N/C + (2)
nE R / 1 | \iT
@ A N/C - " e

2nE R / N
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QUESTION ) @

—

Two parallel infinite line charges with linear charge densities +A C/m and -A C/m are
placed at a distance of 2R in free space. What is the electric field mid-way between
the two line charges? ~

' —
@ Zero | £=RE
.1.-

@ le N/C + s

o Ao - »
@A s .—555 — kA

ﬂEOR N/C = < R ,\ R

l

A ‘ ' = )6‘_ o
® e ExE D :
2nE R < % » & R
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Axial Point of Rod —— FRere chamce

+
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0 ) Gy
ELECTRIC FIELD LINES AND ITS PROPERTIES Y

1. These areﬁmaginar\y lines starting from positive charge and terminating at
negative charge. They do not form closed loops.

|
C\i"‘"‘ < S x
! e

\
2. Tangent to the field gives us the direction of electric field at that point.

3. Two field lines can never intersect each other. Because at point of intersection,
there will be two directions of electric field, which is not possible.

ARE




710 N
. The magnitude of electric field is directly proportional to the number of @
field lines in a given space.

> —-
= = e
d-QMa)L — F1 /Q-‘g)\gﬂ‘ = @

. Number of electric field lines originating or terminating at a charge is directly

proportional to the magnitude of the charge. v'\\ //)
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6. Uniform and Non-uniform Electric Field

8°\|b - Sanng
direckon—> Sarvs
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QUESTION @
. QY

Figure shows the electric lines of force emerging from a charged body. If electric field
at A and B are E, and E; respectively and distance between A and B is r then

&,

= ————

EA - EB/I‘

©
o
®

E, =Eg/r?




QUESTION )

Figure shows some of the electric field lines corresponding to an electric field. The
figure suggests that
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~ QUESTION

The figure shown is a plot of electric field lines due to two charges@anThe
sign of charges is (1994)

Mh negative

Both positive

00

Q, negative, Q, positive

@ Q, positive, Q, negative
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Figure shows electric field lines due to a charge configuration, from this we conclude
that

@ q, and g, are positive and g, > g4

%nd q, are positive and g, > g,

@ q, and g, are negative and g, > g,
S

@ g, and g, are negative and g, > g,




QUESTION )

—

The spatial distribution of the electric field due to charges (A, B) is shown in figure.
Which one of the following statement is correct

é%we and B is -ve;(|A| > | B]
e

> No Use

@ Ais -ve and B is +ve; |A| = |B]
o

Both are +ve but A > B

—_—

<
Both are -ve but A>B

\

18




0 ) Q@
Force on charge particle in External Electric Field WY

S PE
-1-‘" - > F:QE (Somol'h)
L
mm b i 1.
F=1€ = S N Ll et 9



QUESTION )

Figure shows three electric field lines. If F,, F; and F are forces on a test charge q at
position A, B and C respectively, then

S EasE

Ci EA > ?E@ >ﬁEQ

ON/
@ Fa> (g = Field Livuy — 2lectseic Limnsg
(@) Fi<(Fy=F) “@ ’60_‘\_3?



~ QUESTION ) /q,,*b o @

Assertion (A); Eroton and an electron are placed in the same uniform electrlc
field then they experience different acceleration. /-,._,

Reason (R): Electric force on a test charg\el}udependent of its mass. L4

F
- ik

Assertion (A) is True, Reason (R) is True; Reason (R) is a correct explanation

for Assertion (A).
Wrﬁon (A) is True, Reason (R) is True; Reason (R) is not a correct

explanation for Assertion (A).

@ Assertion (A) is True, Reason (R) is False.

@ Assertion (A) is False, Reason (R) is True.



QUESTION )

—

mass 0.1

@ 1.6%107%C
M 10-9C
@ 32x107C
(4) o0sx107cC

( FarnsuwsTybe)

Gy

A vertical electric field of magnitude 4.9 x 10° N/C just prevents a water droplet of a

m falling. The value of charge on the droplet will be:
(Given g = 9.8 m/s

&M Fase

T

L Al

\J
(24
™M= 0*'3-,,, 3'

=0 |Xx |3 -
= lo"(ﬂ%

[JEE Mains 24 June 2022}
A4 £ o lo nee \—

\1E =g
2
Cl:_'rvg - lo~'x 9%

E %Klos

=2AXlo 1 ¢




‘ , Motion of charge particle in Electric Field )

1. Charge particle moves along the Electric Field

i) & X
) S s 6 P L
- szﬁz
St » Lwe .
Eq.,g,ljgn oﬁ motion valid L
O v= uyat % S:Qﬁ\( \a

®W U =28



QUESTION )

An electron of mass m, charge e falls through a distance h meter in a uniform electric
field E vertically upwards. Then, time of fall is:

| ;
- ®
)
[TY
|
N
(f
"~ ¢
(T-
5 5
pi-
2
~




QUESTION )

of electric field 80 N
after 3 seconds is:

@ 76 m/s |
@ 40 m/s

Gy

20 xX |67 >
A particle of masnd charge -3mC moving with a speed 40 m/s enters a region

in theGam@direction of the electric field. Speed of the particle

by & 2 =40
— N . EaE
& & y
Q=== cLE —-3‘“97&&%
i { OX Ler” 3
— -—‘{

) = U~ ok
\}: \‘(0 —\' ("‘\9\)8
\}:x,



QUESTION )

A particle of mass m and charge q is thrown at speed u against a uniform electric field E.
How much distance it will travel before coming to rest? /
S= & |

= *q' V=0 &K
< L— @ L SN S e e

CJOXOXC
%
o
o'\-—"ﬁ,
i
Voo
%
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QUESTION ) @
An electron is moving towardn electric field is alon@hen path
of electron is: \ /
@ Circular 1o,
—

Wla
@ None of these |




~ QUESTION )

Which of the following cannot be deflected (deviated) by electric field?

§®/x-ray (UZ'A{') 9_o l__> g o

@ B - particles (zlech’o'n)
—— - — ,__| - (i o |
@ proton (~ > \)Y D~or4S gk ) —

@ a-particles C/>




_ ) ELECTRIC DIPOLE

Two equal and opposite charges separated by a small distance.




PN
~ QUESTION ) (Fermsa) @

Electric charge Q, Q andespectively are placed at the three corners of an
equilateral triangle of side a-Magnitude of the electric dipole moment of the system

@ V2 Qa =95 =8

@/[_B_.Qa S Bl AN

@ 2q Pt (3} = (T 04



‘ , ELECTRIC FIELD DUE TO ADIPOLE )

1. Axial Point 2. Egquitorial Point
<
> [ £ .
E- 2kp ~
23 | \’1.
- '
2h - == — ‘, ~
| j Y =
A




—

R
QUESTION > G W -\'o‘uWQ @

y &
A point QQ lies on the perQendicul@ of an electrical dipole of dipole moment
p. If the distance of Q from the dipole i1s r (much larger than the size of the dipole),

then electric field at Q is proportional to (1998)
2 3
( ) plandr=* = e e 4
et i) kp 5=
2
@ p and r~? S L k e
(o’
Ee b
“andr? -
@ i Fx 2>



15 N
~ QUESTION ) @
Two point charges of 1 uC and -1 pC are separated by a distance of 100 A. A point P is

at a distance of 10 cm from the midpoint and on the perpendicular bisector of the line
joining the two charges. The electric field at P will be

@ 9INC- 9. = [o xlo’zml:@ T e :_’if =9 )(lo" « lo"”
2 €
@ 0.9 NC-! TR P e (le™)




7D N
QUESTION ) (2 S
{- TR &

The electric force on a point charge situated on the axis of a short dipole is E If the
charge is shifted along the axis to double the distance, the electric force acting will be

@ o b ] F=06 €&

> *—
@ F/2 » ! y Fz“*%’




3. General Point —> Rere chance T S
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‘ , Dipole in Uniform External Electric Field )

T’F r‘t? .@ s a) 6=0, |80’
/ 4 4 2 - | - p
/ 3 > e
B = B ] X
— - —
Frat <o im umifirm E s kESiﬂG( [Z=o
o J
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AR
QUESTION ) @

—

Two charges each of magnitude 0.01 C and separated by a distance of 0.4 mm
constitute an electric dipole. If the dipole is placed in an uniform electric field 'E" of

10 dyne/C making 30° angle with E, the magnitude of torque acting on dipole is:
. o 5 [13 April 2023 (1)]

x
@ @.0x 107° Nm T = pPE 3imo e
MlO'lon ‘Dtﬂxdto.o\)((o-‘ixlo“z) C—mm
@ 10~ Nm E— o xlIo”S N

x | <
@ @y 1098m i

X

o




QUESTION

T Ry
Co"lf\ ce P{ / N 4
:An e [T dipole placed in the electric field of a point charge can never

Statement-
experience zero resultant force. E
Statement-II: Electric field of a point charge ig/fion uniform
%h Statement I and Statement I are correct = £2
® _“—'ﬁ
43 SRl RUL I,
: —
@ Both statement | and Statement Il are incorrect. ) QE,
. . D &
Statement [ is correct and statement Il incorrect. fehic

),L"\_
@ Statement | is incorrect and statement Il is correct.



c 5 ELECTRIC FLUX )

Measures the number of electric field ]ine@rough a given area.

/ CV‘OSS‘Vg, A—:’ -> _L_QOQQ)\"'D Sw«gA_CE
= Celalt
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AR
~ QUESTION ) @

A square surface of side L metres is in the plane of the paper. A uniform electric field

E (volt/m), also in the plane of the paper. is limited only to the lower half of the
square surface (see Figure). The electric flux in S.I. units associated with the surface is

(2006)
P
,@/zero

r_—!

©
O

iy



QUESTION )

Electric field in a region is uniform and is given by E= ait+ bj + ck.
Electric flux associated with a surface of area A = mR?{ is — oj +of




A
~ QUESTION ) @

If an electric field is given b 3j + 4k calculate the electric flux through a
surface of area 10 units lying in yzpiane

S0 J
%O units — & A ()
=

»
—







‘, GAUSSLAW ) por £ .dh

The [surface integral of electric ﬁeld over a closed surface is equal to the charge
enclosed by the surface divided by ‘epsilon not.

[T
" 55-5'&3:




QUESTION )

Total electric flux associated with unit positive charge in vacuum is

Mg o= P = Yencl < i
= &

- N

1/4mng,

® -



QUESTION )

Five electric dipoles of charge ‘q" each are placed into the shell. What will be the
amount of electric flux assocnatea with the shell?




‘ 5 Applications of Gauss Law )

1. Hollow Sphere/ Shell and Slglid Sphere (Qondugting)

J
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~
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710 N
~ QUESTION ) @
The electric field at a distanc the centre of a charged conducting spherical
shell of radius R is E. The electricTield at a distanc om the centre of the sphere
is [Main 2010]

@0/ | a0
E PL. clorge — Sphenicad G.M‘q“,gw\%‘k(

S‘DW e e S‘H"-’J‘\‘C_GQ

0006



3. Infinite Line Charge/ Rod

—_— Ca 'v'ﬂd)’ ;CQO

e




4. Infini n ' h

o9

T

T {E_-—_q“ l
4»4' : iy > po B
4 4 : €5
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~ QUESTION ) @

In the figure, a very large plane sheet of positive charge is shown. P, and P, are two
points at distance / and 2/ from the charge distribution. If o is the surface charge
density, then the magnitude of electric fields E, and E, at P, and P, respectively are

[JEE Mains[25 IuneZZOZZ]
@ E1=0'/€0, E2=0/2€0

@ E,=20/¢y, E, =0/¢,
MEZ =0/2¢,
@ E,=E,=0/¢,




c , FLUX THROUGH A CUBE )

1. Charge at center of cube (Body Center)

i
?/ 7 S CLs













AR
~ QUESTION ) @

A charge Q is situated at the corner of a cube, the electric flux passed through all the
six faces of the cube is [2000]

®:
6€,

o

@
® -



QUESTION )

A chargplaced at the centre of a cube, the flux coming out fro@f

the faces will'be (in SI unit)

== 167

6€&g
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®
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Q

8¢,

Gy
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c, Homework )

10 am Subah «SPP Battle - Ground]

PLo Akp

FOR NOTES & DPP CHECK DESCRIPTION







